Erie Canal Weigh Lock Design


Name _____________________  Box _______








Partners: ________________________________

Boats on the Erie Canal were charged tolls based

on the weight of their cargo. This was done from

beam

the mid 1820s through about 1880 when the tolls

were eliminated. There were 7 weight locks on

the canal, one of them at Syracuse, which has the

only remaining weigh lock building in existence.

The boats came into the lock and then the water


water

    boat

was drained out. The boat settled into a cradle

as shown in the sketch. The weight was determined

by a balance method.






    cradle

The early canal (before improvements) was 4 feet deep and 28 feet wide at its deepest, then the depth decreased toward the bank, for an overall width of 40 feet.

a) Make a rough estimate of the weight of a canal boat which sat 3 feet deep in the water, was 12 feet wide, and 60 feet long.

b) The beam was apparently balanced by a large fixed weight and a movable smaller weight of around 500 pounds.  Work up a design for where the beam should be balanced, what the fixed weight should be and where it should be placed, and ditto for the 500-lb movable weight. (One web page says the original method of weighing boats was by water displacement but the boat captains complained that this was merely guesswork.)

